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Q1) Figure 1 shows isometriz view of object, draw to a suitable scale the following views in the third angle projection giving
dimentions :

a) Elevation looking in the direction of arrow 'A'
b) Side view in the direction of arrow 'B'
c) Plan
(Hidden parts if any should be shown with dotted lines)

[7+5+6=18]

Q2) a) Write neatly free hand the following sentence in stroke italic capital letter of hight 10mm "GOOD GOVERNANCE IS
IDEAL"

b) Give symbol of the following as per bureau of Indian standards.
i) AC general symbol
ii) Gate value
iii) Positive polarty
iv) Inductor
v) Neutral

[7+7=14]

Q3) A line 60 mm long indined to HP 45º and inclined to VP30º. Line is in first quadrant with a point A 10mm above HP and 20mm
infront of VP. Draw projection of line AB. [14]

Q4) Answer any two part of the following : [14]
a) A hight of cone of dia 30 mm is 65 mm draw its isometric view when its axis is to be in horizental plane.
b) Construct a regular pentagon of side 15 mm by any method.
c) How dimensions are done in the following, show it an sample line diagram :

i) Circle
ii) Threaded hole
iii) Tappered surface
iv) Cylenderical part
v) Nurling

Q5) A rectangle 20 mm and 40 mm side is resting an HP, one small side which is 30º inclined to VP while the surface of the plane
makes 45º inclination with HP draw the projections. [14]
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NOTES :

i) Attempt four questions in all question no. 1 is compulsory.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : i) Hw$b Mma àíZ H$s{O¶o& àíZ H«$‘m§H$ 1 A{Zdm¶© h¡&
ii) narjm{W©`m§o H$mo gbmh Xr OmVr h¡ {H$ do àíZ-nÌ Ho$ XmoZm§o AZwdmXmo§ _| gm§»`H$s` Am±H$‹S>m§o H$m {deof ê$n go {_bmZ H$a b§o& `{X {hÝXr AZwdmX Ho$

{H$gr àíZ _| {H$gr àH$ma H$s {^ÞVm h¡, Vmo narjmWu A§J«oOr AZwdmX Ho$ AZwgma àíZ H$m CÎma X§o&
iii) narjm{W©`m| Ûmam noµOa Am¡a _mo~mBb \$moZ H$m à`moJ AZw_Ý` Zht h¡&

à.à.à.à.à.1) {MÌ 1 ‘| dñVw H$m g‘{‘Vr¶ Ñí¶ {XIm¶m J¶m h¢& C{MV n¡‘mZo ‘| {d‘mAm| Ho$ gmW {ZåZ{b{IV V¥Vr¶ H$moZr¶ àjon ‘| IrqM¶o&

A) Vra A H$s {Xem ‘| XoIVo hþ¶o Elevation
~) Vra B H$s {Xem ‘| XoIVo hþ¶o Elevation
g) AZw{djon (Plan)

({N>no hþE {hñgo, ¶{X H$moB© hm|, H$mo q~XrXma aoImAm| Ho$ gmW {XIm¶m OmZm Mm{hE)
[7+5+6=18]

à.à.à.à.à.2) A) 10mm hight Ho$ EH$b à¶mg {VaN>o Ajam| ‘| {ZåZ dm³¶ H$mo ñdÀN>Vm nyd©H$ free hand {b{I¶o&
"GOOD GOVERNANCE IS IDEAL"

~) {ZåZ{b{IV Ho$ àVrH$ ^maVr¶ ‘mZH$ Ho$ AZwgma X|&
i) AC OZab {gå~b
ii) JoQ> dmëd
iii) nmOoQ>rd nmobaQ>r
iv) BZS>³Q>a
v) Ý¶yQ´>b

[7+7=14]

à.à.à.à.à.3) EH$ bmB©Z 60mm bå~r h¡& Omo H.P. VWm V.P. go 45º VWm 30º H$m H$moU ~ZmVr h¡& aoIm First Quadrant ‘| pñWV h¡& aoIm H$m A {~ÝXÿ 20cm HP Ho$
Cna h¡& Ed§ V.P. Ho$ 10mm CgHo$ gm‘Zo h¡& BZ aoIm AB H$m àjon ~ZmE|& [14]

à.à.à.à.à.4) {ZåZ ‘| go Xmo ^mJ H$a| : [14]
A) 30 mm ì¶mg dmbo EH$ e§Hy$ {H$ C±MmB© 65mm h¡& BgH$m isometriz view ~ZmE§ O~H$s BgH$s Axis horizontal ßboZ ‘| h¡&
~) {H$gr ^r EH$ {d{Y Ûmam 15 mm ^wOm dmbo EH$ g‘ nÝM^wO H$s aMZm H$s{OE&
g) {ZåZ H$m {H$g àH$ma {d‘m§H$Z {H$¶m OmVm h¡& BgH$mo gab aoIm {MÌm| go Xem©B¶o& d¥V, W«S>oS> hmob, ½gboÝS´>rH$b nmQ>© ZaqbJ, Q>ona gVh&

à.à.à.à.à.5) EH$ 20mm VWm 40mm ̂ wOmAm| dmbr Am¶VmH$ma HP na N>moQ>r ̂ wOm go aoñQ> H$a ahr h¡& VWm VP na 30º PwH$s hþ¶r h¡& O~{H$ ßboZ H$s gVh H.P. na 45ºC
PwH$s hþ¶r h¡& àjon ItqM¶o& [14]
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